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There are 9 coins. They all have the same weight apart from one. That one is fake and is lighter than the others. You have got a balance that shows you which side is lighter, but not the weight. Can you find the fake coin using the balance only twice?





You have three boxes, each containing two marbles. One of them contains two red marbles, one contains two green marbles and one contains one of each colour. The boxes are labelled “RR”, “GG” and “RG”, but unfortunately all the labels are wrong. You may draw one marble from one box of your choice without looking inside. Can you decide which box contains which pair?





A farmer is standing in front of a river. He has got a boat and he wants to transport a goat, a wolf and a cabbage to the other side. The boat is small and apart from the farmer only one more thing will fit into it. He mustn’t leave the wolf alone with the goat, because the wolf will eat the goat. Similarly he can’t leave the goat alone with the cabbage. How can the farmer transport all three to the other side of the river?











